A & 0l & AF 2 E A A
016UE % 13 BFINZALSHEA A7
SN BESND
=L R I L
el HA HI(BAIZANLSLHEH) (ol @)
SA-HB S (3H) - NPAY - B 0 &t w/E- HRE2
S#A =X 4,796,257 4,857,380 A61,123
= 299,972 299,500 472
< 5,961 11,900 25,939
a 4,490,324 4,545,980 A55,656
HOI2 &3 3,439,977 3,505,110 A 65,133
= 299,972 299,500 472
< 5,961 11,900 A5,939
[ia 3,134,044 3,193,710 A 59,666
HA HEY(BAIEZMNLESLEIA) 828,531 836,900 A 8,369
= 299,972 299,500 472
< 5,961 11,900 A5,939
[ia 522,598 525,500 A 2,902
HOI2 XMel X& 223,831 231,900 A 8,069
201 L Et2E | 37,850 36,500 1,350
01 At 2teltl 37,850 36,500 1,350
O EMN AAAY XA AT HE 5,000 0 5,000
Oget=gHl 18,000 20,000 A 2,000
— MeD| & LY E 4,500 5,000 A 500
— MY Dl HHEH EES 2,700 3,000 A 300
—HIIEME 22X 25 1,800 2,000 A 200
— Mol EHSI LA L2tE 2,700 3,000 A 300
—CCTVENS B AT, MBOEH IHEE
A== 810 900 A 90
—NEHJI=S ?EH 1,350 1,500 A 150
— DEH dMARE 1,800 2,000 A 200
—HATAMNE AMES F 1,800 2,000 A 200
—MgJl HHEXE dot=E AIERS 540 600 A B0
OsgH(HIISE =) 1,890 2,100 A 210
OltsZEEEES+H ZHIL(EHX, LEX) 9,360 10,400 A 1,040
SEW =24 SEX P2 1,800 2,000 A 200
OHmHJI=83altl 1,800 2,000 A 200
206 M= Hl 106,781 112,400 25,619
01 M= 4l 106,781 112,400 25,619
oMglI=E M 57,000 60,000 A 3,000
OFAx2HE =23 2,850 3,000 A 150
OSAEHIIE BEF=HED| 4,088 5,250 A 262
OSASHIE dE+HEI(HEE) 23,750 25,000 A 1,250
O8R=1¢e 1,900 2,000 A 100
OHAMER=HE 1,900 2,000 A 100
OMgs 2cldgi 2,375 2,500 AN 125
O =0t 950 1,000 A50
ONgszeldE B2 2 0t (40kg, 500k &) 3,230 3,400 A170
OMegstls M&E ME(JMaEs) 2,328 2,450 A 122




2N
X ZH -
L= B

el

2A-F3H-H2A(3) - MY - BES O] Ak I & Hns2Z
ON2E =) ZFH2 2,850 3,000 2150
OLUHEYN AAE MB 380 400 A20
OoMgsHLEs 7 2,280 2,400 2120
401 Al HI 2 200 72,200 76,000 A3,800
01 Al&HI 72,200 76,000 3,800
OggMy Il & Jtnich X 9,500 10,000 A500
OMEXE AT AIE X 5,700 6,000 A300
OMADIIEXE Z2IE &3 28,500 30,000 A 1,500
OMYDI BHEXE Ha L H2ES 28,500 30,000 A1,500
WEEE £ L HISAMD 24 43,700 44,000 A300
201 L2 2,700 3,000 A 300
01 At 22l 2,700 3,000 A300
OHsSIIH 2 HEHIIZS +H 9x 2,700 3,000 2300
HEY 724 64,000 64,000 0
= 7,972 7,500 472
< 5,961 11,900 A5,939
= 50,067 44,600 5,467
301 Lt A S 64,000 64,000 0
= 7,972 7,500 472
[ 5,961 11,900 A5,939
= 50,067 44,600 5,467
HIIEBEA3 64,000 64,000 0
OHHIY +H=24 64,000 64,000 0
=2 7,972 7,500 472
[ 5,961 11,900 ~5,939
= 50,067 44,600 5,467
HOI2 XMelAld 2H(EIZAESEIH) 2,611,446 2,668,210 N56,764
HIISX2IAIE 22 848,936 892,410 NA43,474
201 L2 420,976 445,610 N24,634
01 At 2t2l Y| 42,363 47,070 N4,707
OFIRIE=1:] 42,363 47,070 A4, 707
—HEL AN IHES) 11,016 12,240 N1,224
—EE R 27NES) 3,672 4,080 A408
— XI5t (24018 =) 2,592 2,880 1288
— L= (2500E =) 2,304 2,560 N 256
—DHEE H2O HIIZAHNA) 900 1,000 A 100
— X ELd2dT 2A 7,200 8,000 A 800
— N HEIIA A22A 540 600 AB0
—SASMYIIMSIAE BIIZA 1,800 2,000 A200
—MEHIIS MH2AALE HIHA 1,800 2,000 A200
—ANSSHEANE FHIIZA 1,800 2,000 2200
—HASANY HFBZR JlEXE 2 2,250 2,500 2250




SN BE=XD
=L R I L
Sl HIIZ HMelAd SY(BBIZALSEEN)

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
—2USYS ANER 495 550 A 55
— &%) & dEE 3,150 3,500 A 350
—HEd RZHESA 2,340 2,600 A 260
—MEHIEFT2SNHBSH &+ 504 560 56
02 =224l 378,613 398,540 A 19,927
032323 % HA 338,295 356, 100 A 17,805
—&Jjetd e 84 38,000 40,000 A 2,000
—HIIAEHA 23 3,420 3,600 A 180
—o o=k MBR= 11,400 12,000 A 600
—S#ZMNERE = 475 500 A25
—HEEFANEW QS (5HA) 285,000 300,000 A 15,000
OAl& & Hls Xl 40,318 42,440 N2, 122
—HEHE 22K X4 8,550 9,000 A 450
—MHEESZHEE KA 1,900 2,000 A 100
— &&=+ MelAlE |l 4,750 5,000 A 250
— 342 MelAld |l 9,500 10,000 A 500
—HYI =28 dM4FHKX 2el 1,368 1,440 AT2
—MBTAE XM CIAlE = Xlbl 14,250 15,000 AT50
206 = Hl 6,460 6,800 A 340
01 M Z 4l 6,460 6,800 A 340
O & &A% F 3,135 3,300 A 165
O & JtAaZay 1,900 2,000 A 100
OHHEXNE 4= - AHMHM , 2D U= 1,425 1,500 NT5
301 4= 1,500 0 1,500
09 AL HI BN = 1,500 0 1,500
OHIISMelAY =81t 4398 S&E 1,500 0 1,500
401 A& HIZ 201 8] 380,000 400,000 220,000
01 A& HI 380,000 400,000 220,000
OmJI= AEXHel 190,000 200,000 A 10,000
OBASFHIIS SSHElANE =F4H KA 190,000 200,000 A 10,000
Faxd M € sX2el 181,260 190,800 A 9,540
201 Let24E] 181,260 190,800 A 9,540
02 =224l 181,260 190,800 A 9,540
OFAXE }RF 82,080 86,400 A4,320
OFAXE /A 2= 82,080 86,400 N4,320
O=SEE8 240 |8%F 11,400 12,000 A 600
O220 &7 5,700 6,000 A 300
HIIE M2lAld QI2te & 1,581,250 1,585,000 A 3,750
206 = Hl 71,250 75,000 A 3,750
01 =8l 71,250 75,000 A 3,750
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= >
N = 0 &8 AH Y H N AN
20169 = =& 1 3 SEIZAIEELEIAH &A
2AMN: Aot ALY A
M. St 22
S ol HEH L SA(BHIZAMEELGH) (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
ASha T AN A 4,408,029 9,712,757 A5,304,728
=2 0 3,744,000 A3,744,000
[= 0 802,000 A802,000
2 4,408,029 5,166,757 AT758,728
st el 4,248,149 9,542,757 A5,294,608
=2 0 3,744,000 A3,744,000
[= 0 802,000 A802,000
2 4,248,149 4,996,757 AT48,608
Gt=2{EH L RX(SIIZAELESLEIA) 142,500 150,000 A7,500
Gt HH 2 =4 142,500 150,000 A7,500
401 AlEHIZ =20l 142,500 150,000 A7,500
01 Al&H| 142,500 150,000 A7,500
onts st2& S st Hi 142,500 150,000 A7,500
SHE0SSHLEEHH(BFIZALESLSH) 0 4,848,000 A 4,848,000
=2 0 3,394,000 A3,394,000
[= 0 727,000 AT727,000
2 0 727,000 AT727,000
o©s, ZHEDISEHSE (28 H) 0 4,848,000 A4,848,000
=2 0 3,394,000 3,394,000
[= 0 727,000 AT727,000
2 0 727,000 AT727,000
401 AlEHIZ 20| 0 4,848,000 A4,848,000
=2 0 3,394,000 A3,394,000
[= 0 727,000 AT727,000
2 0 727,000 AT727,000
01 Al&HI 0 4,848,000 A 4,848,000
Ogs 22 Gt (28HH) 0 4,848,000 A 4,848,000
=2 0 3,394,000 A3,394,000
[ 0 727,000 AT727,000
2 0 727,000 AT727,000
BRI AL B2l - 2H(BBIZAEELSH) 4,105,649 4,544,757 A 439,108
=2 0 350,000 A 350,000
[ 0 75,000 AT75,000
2 4,105,649 4,119,757 A 14,108
BHIZANE 29 1,728,649 1,803,757 AT75,108
201 Y2 941,030 995,200 AB54,170
01 AFR 22| H 79,380 88,200 A8,820
O2ZE ASA ASHA 242 26,180 35,000 18,820
02 2224 861,650 907,000 A 45,350
O%=ZETMS X2l 31,200 36,000 A4,800
OAMNEZH SXH(ASZM L 24TFH|) 9,450 10,000 A550
Odt=zed Xl SAEH2IH| 200,000 240,000 A 40,000
206 I 24l 112,812 118,750 25,938




2N

H: 4T B2

S BAINZAL B2 - 2Y(BAINZALSEE) (29l & 2)
& - HA(ZAH) - NRAMY - BES Off &t 24 INEH Husz

01 M2 bl 112,812 118,750 5,938

O=ZTMS Xt & Al F& 12,062 18,000 25,938

405 ThoH3 St 135,000 150,000 A15,000

01 YL 2B St 135,000 150,000 ~15,000

OstaHe AL I 2 85,000 100,000 15,000

SBHIENL B 412,000 261,000 151,000

207 & R IH e 212,000 161,000 51,000

NEEEET 212,000 161,000 51,000

OZBot+HeIAL JNeTE 212,000 161,000 51,000

401 N EHIL 2T 200,000 100,000 100,000

01 Al bl 200,000 100,000 100,000

OXF L 230SsaHaAAE AALN 200,000 100,000 100,000

SBAINEZAIL T 285,000 300,000 A15,000

401 N EHIL 2T 285,000 300,000 A15,000

01 A&t 285,000 300,000 A15,000

Ostamel® Ha 285,000 300,000 15,000

HES ST 2la OB 0 500,000 A500,000

2 0 350,000 350,000

= 0 75,000 A75,000

2 0 75,000 A75,000

401 NEHIL 2 THYI 0 500,000 A500,000

2 0 350,000 A350,000

= 0 75,000 A75,000

2 0 75,000 A75,000

01 Al 0 500,000 A500,000

OLHS st4Mal4 MHOIZAY 0 500,000 A500,000

2 0 350,000 350,000

< 0 75,000 A75,000

2 0 75,000 A75,000

HRES (45H4 AR A) 159,880 170,000 ~10,120

SRS (BAINEANLSEEN) 159,880 70,000 ~10,120

SBHIEANLSHIN 2 Ba3 159,880 70,000 ~10,120

802 & 20|t 159,880 70,000 ~10,120

NEREEEEE! 120,854 130,000 A 146

O=bl B&3(DHAGEHAAL SXAL) 129,854 130,000 A 146

02 Al - CHEZIUEI 30,026 40,000 £9,974

Ol SHE3(DEGLHeI AL LXIAL) 30,026 40,000 £9,974




